Practice Test

November 2, 2023 10:01 AM
FOM 12 Chapter 1 Tﬁft Practice Test Name:

ear
5 Year x Petiu(

Simple interest: = Prt A=P(1+ rt) Compounded Interest: A = P(1 + i)@

You have to use the equations for the first 4 questions peried

1. Determine how much interest is earned if $8000 is invested at 2.7% per annum simple interest for 5

years. [3 marks] =
T=Prt = $lwox0.027% 5 = $loso Ans]m

@ @5 invested at 4.5% simple interest foWhat is the t@of the investment?
[3 marks] .

\/r 9
/A\= P(|+ V'() = $600[' + 0.045 (Tqi)] = AHSM

3. Rosainvested $600 at 3.9% simple interest. At the investment’s maturity, it value was $1302. How long
was the money invested?

[3 marks] T=Prt  720= $boo (0-039)t

T=$ [30)-600= <}7zolwl . wm/ ans)._30.8yr

4. Using the formula, determinefhow much interest is earned on an investment of $5000 at an interest rate of
o/per year, compounded semi-annually forOJears [4 marks]

A=PLi il $9°°°D + 247/« 240122 Intest = A =P
- ans) $2401. 22

®

For the following question you can use the graphing calculator’s financial program

5. Jade has $30 000 to invest for 5 years. Which investment option will earn more interest? How much more
interest? [6 marks]

Option A) 6.2% simple interest I= Prt = $ gmo (0'062)(57'):' $q300 (A)

o Option B) 4.2% compound interest, compounded annually

N I PV PMT FV 7% P/Y C/Y End/Begin
Oyr [ 2% [-$30000 O  [3pgsl90] 1 1 Begim

Tntest = FV-PV = $6851.90 (B)
Which option?) A

Opt A more: ¢qgw - $68$l‘qo How much more?) $ 244'8 lO//

6. Determine the present value of a 10-year CIG with an interest rate of 5.6%, compounded monthly, if the
future value is $10 000. [2 marks]

N I PV pMT FV P/Y C/Y End/Begin
l0yr [ 56 1 @  [3$loooo] 1 12— [ Beyin

b _5219.54 pe $5719. 54




Pv (one ‘t'ww.)

@ Determine the interest earned on a 20-year investment with an interest rate of 4.25%, compounded
quarterly, if the future value is $100 000. [3 marks]

*

N (year) [1 PV PMT FV PIY C/Y End/Begin
20 4.25% )] ,® $lo 0,000 1 4— Bef’)fn
$42433.51
Tetaest = FV/= PV =(09000 - 42,433.57 — a2 $57066.43

8. Determine the term (in years) of a $26 000 investment with an interest rate of 2.95%, compounded
monthly, if the future value is $100 000. [2 marks]

%

N I PV pMT FV B c/Y End/Begin
49.7 [2.96% [—-26000] O [00,000] 1 12 Beyin

Ans) 45 ¢ 7 Y

9. Use the rule 0@0 determine the approximately how long it take for an investment to double in value
if the interest rate icompounded semi-annually. [2 marks]

T‘an‘to du'oles 7627; =‘2yr

ansy_ |2 yr

T _ PAy=12 1 =
fyou invest $1000 at the end of each month at 8.5% per annum compounded monthly, how much do

you have after 5 years? What was your rate of return? [4 marks]

N(l:y-uts) I ) @ FV P/Y c/Y End/Begin
Syx|2=60[ 8.5 @ [-%loool 12 12 End
Tt Tnvestdt = $1000 X HO times = $60000 $ T4442 .44 JM'M?' 4
Fv= $74442.44 Rote of . Lnsterst  nterestearned) 4442,
Trrat = FV = T Tkl = § 1 462,44 I""Q?; t Maeotreum) 2%
11. How much would you need to invest each month at 3.75%, compounded quarterly, in order to have

saved $12,000 by the end of 7 years? [2 marks]

-

N7Zyrx12 |1 ) PMT FV P/Y c/Y End/Begin
g4 C75% | © (1164312000 IZ 4 End

‘ Ans) $H6-4’8
P/=52 pMT

Regular weekly payments of $20 are deposited into an account paying 1.5% interest, compounded
weekly, If the final value of the account is $5000, how long was the money invested (in years)?

.

N ' I o PMT FV P/Y c/Y End/Begin
K @ —$20 [$5000 | 52 |52 End
24143 weeks Weeely

—!-52L_> 4.6 yr AnS]ﬁL



13. This portfolio was started 2 years ago. What is the TOTAL current value of the portfolio?
@ Weekly deposits of $50 (end) into an account earning 2.5%, compounded weekly
® A $2500 investment averaging 3.25%, compounded semi-annually [4 marks]

N 2x52 |1 Jo PMT FV P/Y C/Y End/Begin
04 [25% [ O [-%$50 [533088( 52 92 End
N I PV PMT FV —\RL\ P/Y C/Y End/Begin
2\(/)’ 3,29 [-2500 Q 2666.50 | 2 €] e;,'m
Totd= $2666.50 + $532%.88
ans)_$7497.38
c1BC

i4. Diane invested $200 at the end of each month for 4 years at 4.5% per annum compounded monthly. At
the end of 4 years she stops making monthly payments, but lets the balance continue to grow in the same

investment for another 10 years. How much does she have at the end of 14 years? (hint: how much did she
save after 4 year? Reinvest that as one lump sum for the 2" part and how much did she save at the end?) [4 marks)

c1eC RBC
N = 4yr %12 = 48 poymants N=[Oyr
1% = 4,59, 1% = 45%
P= Pv=-$(0496.77
PMT =?_ $200 \//—' _BMT = @)
Frv= Slo KkFv=| $ [6448.36
P/Y= |2 p/v=1
c/y= 2 c/Y=12
PMT {End)BEGIN PMT : End/[BEGIN |

Value at the end of 14 years) $ l 6[ 44’8 4 36



